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1 =T 53 200 il AARL —
2 EF 5 200 A ANARL —
3 e L8 400 H B #

4 =T I} 400 HHE

5 e L8 50 WPk E

6 =P I} 50 WpkE

T REU R & 50 kX

8  RHELLE—f%  F 50 WpkE

9 TN iR L8 50 WPk E
10 /NFE—E % 50 WpkE
11 JEE -8 200 Wk E
12 =T ) 200 WPkE
13 e 58 50 HHE
14 ®’F B 50 H HE
15 FEUE— & 50 HHE
16  AFELLE—E B 50 HHE
17 IR 58 50 HHE
18 /AR B 50 H HE
19 e E 58 200 HHE
20 ®’P B 200 H HE
21 e -8 50 WIKE
22 ®’P B 50 HIkE
23 RELLE— & 50 WIKE
24 LA E—fx B 50 HkE
25 NEFAE -8 50 WIKE
26 AR B 50 HIkE
27 e e -8 200 WIKE
28 ®F B 200 HIkE
29 =P 58 50 INETFA
30 eSS B 50 INHTFA
31 AELL L & 50 INETTA
32 DL E—% B 50 INRT 54
33 INEAEK LS 50 INETTA
34 INFAE— R 5 50 INHTFA
35 = LS 200 NETFA4
36 eSS B 200 INHTFA
37 =T 'S 400 il AARL —
38 ®F B 400 il AARL —
39 =T 'S 100 H HE
40 eSS B 100 H B E
41 e = -8 100 WpkE
42 eSS B 100 WPk E
43 eSS LS 100 kE
44 =’ B 100 HkE
45 B’ 7 100 INETFA
46 ®F B 100 INHTFA
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